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𝑝𝑟𝑜𝑝.集合𝑋, 𝑌と𝐴 ⊂ 𝑋,𝐵 ⊂ 𝑌に対して、 

(𝑋 × 𝑌) ∖ (𝐴 × 𝐵) = ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) 
𝑝𝑓. 

𝐴 = 𝑋,𝐵 = 𝑌のとき(𝑋 × 𝑌) ∖ (𝑋 × 𝑌) = ∅, 

(𝑋 ∖ 𝑋) × 𝑌 = ∅ × 𝑌 = ∅,𝑋 × (𝑌 ∖ 𝑌) = 𝑋 × ∅ = ∅ 
∴ ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) = ∅ 

∴ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) = ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) 

 

𝐴 ≠ 𝑋 ∨ 𝐵 ≠ 𝑌とする。 

(⊂) 

∀𝑎 ∈ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵)をとると、 

𝑎 ∈ 𝑋 × 𝑌より、𝑎 = (𝑥, 𝑦)(𝑥 ∈ 𝑋, 𝑦 ∈ 𝑌)と書ける。 

また、𝑎 ∉ 𝐴 × 𝐵より、𝑥 ∉ 𝐴 ∨ 𝑦 ∉ 𝐵 

𝑥 ∉ 𝐴のとき、𝑥 ∈ 𝑋 ∖ 𝐴, 𝑦 ∈ 𝑌より、𝑎 = (𝑥, 𝑦) ∈ (𝑋 ∖ 𝐴) × 𝑌 

𝑦 ∉ 𝐵のとき、同様にして、𝑎 ∈ 𝑋 × (𝑌 ∖ 𝐵) 

以上から、𝑎 ∈ ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) 

∴ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) ⊂ ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) 

 

(⊃) 

∀𝑎 ∈ ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵))をとる。 

𝑎 ∈ (𝑋 ∖ 𝐴) × 𝑌のとき、 

𝑎 = (𝑥, 𝑦)(𝑥 ∈ 𝑋 ∖ 𝐴, 𝑦 ∈ 𝑌)と書ける。 

この時、𝑥 ∈ 𝑋, 𝑦 ∈ 𝑌より、𝑎 = (𝑥, 𝑦) ∈ 𝑋 × 𝑌 

𝑥 ∉ 𝐴より、𝑎 = (𝑥, 𝑦) ∉ 𝐴 × 𝐵 

∴ 𝑎 ∈ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) 

𝑎 ∈ 𝑋 × (𝑌 ∖ 𝐵)のとき、同様に𝑎 ∈ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) 

以上から、𝑎 ∈ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) 

∴ (𝑋 × 𝑌) ∖ (𝐴 × 𝐵) ⊃ ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵)) 

 

以上より、(𝑋 × 𝑌) ∖ (𝐴 × 𝐵) = ((𝑋 ∖ 𝐴) × 𝑌) ∪ (𝑋 × (𝑌 ∖ 𝐵))■ 


